P
I

E (8.594)
d & J D
@ — ®,
D
(8.594 )
D)
| Il I\ \IXL
C
IT_J L—m
(7.597)
f |
B
(4.488)
(4.800)
\ A J
U T 1Y)
(8.002)
SECTION C-C
A

e
Ji

3 2 1
BOM Table
ITEM NO.|PART NUMBER|Rev. Description MateriallFlameRating Color YQ-080804-13/QTY. | YQ-080804-17/QTY. | YQ-080804-23/QTY. | YQ-080804-27/QTY.
1 YQ-08084B-14|-.01 BASE PC UL94V-0 |LIGHT GRAY 1 1 1 1
2 YQ-08081C-14|-.02 COVER PC UL94V-0 |LIGHT GRAY 1 - 1 -
3 YQ-08081C-18|-.02 COVER PC UL94v-0 CLEAR - 1 - 1
4 SCREWS-010 | - #10-32 X .75, HIGH PROFILE FILLISTER HEAD SS 4 4 - -
5 YH-91F - MOUNTING FOOT PC UL94V-0 |LIGHT GRAY 4 4 4 4
6 SCREWS-009 | - 1/4-20 X .5, STAINLESS, FLAT HEAD, PHILLIPS DRIVE SS 4 4 4 4
7 SCREWS-041 | - | #10-32 X .75, HI PROFILE FILLISTER HEAD, TAMPER-RESISTANT TORX SCREW | 18-8SS - - 4 4
E.|
@ — © d
|  (6.250) (7.597) C (8.002)
O — 8 {2} [
I
— (1.250) =
(8.750 )

PART NUMBER: YQ-080804-27

PART NUMBER: YQ-080804-23

-01 ADDED TAMPER-PROOF VERSIONS

D.M.F.

R.W.H.

06/01/201
8

REV. DESCRIPTION

ZONE

BY

APPR'D

DATE

REVISIONS

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN: INCHES[mm]

TOLERANCES: ANGULAR: #2°

TWO PLACE DECIMAL: +.010

THREE PLACE DECIMAL: *.005
PRINTED GRAPHICS: +.010

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

POLYCASE. ANY REPRODUCTION IN PART

OR AS A WHOLE WITHOUT THE WRITTEN

PERMISSION OF POLYCASE IS PROHIBITED.
CAD FILE: YQ-080804

PART NUMBER: YQ-080804-13

PART NUMBER: YQ-080804-17

PART NO.

YQ-080804

MATERIAL

FLAME RATING SIZE
NAME DATE D

DRAWN D.M.F. | 2/4/2014 .
CHECKED  BM.B. 2/18/2014 SCALE:1:1.5

1

1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

REV

-.01

SHEET 1 OF 2

REV
-.01

YQ-080804

“ D



O

BOM Table
ITEM NO.|PART NUMBER|Rev. Description MateriallFlameRating Color YQ-080804-14/QTY. | YQ-080804-18/QTY. | YQ-080804-24/QTY. | YQ-080804-28/QTY.
1 YQ-08084B-14-.01 BASE PC UL94V-0 |LIGHT GRAY 1 1 1 1
2 |YQ-08081C-14]-.02 COVER PC UL94V-0 |LIGHT GRAY 1 - 1 -
(5.633) 3 SCREWS-010 | - #10-32 X .75, HIGH PROFILE FILLISTER HEAD SS 4 4 - -
D 4 SCREWS-009 | - 1/4-20 X .5, STAINLESS, FLAT HEAD, PHILLIPS DRIVE SS 4 4 4 4
" 3 (5.113) - 5  |YQ-08081C-18|-.02 COVER PC UL94V-0 CLEAR ; 1 ; 1
! 6 SCREWS-041 | - | #10-32 X .75, HI PROFILE FILLISTER HEAD, TAMPER-RESISTANT TORX SCREW | 18-8SS - - 4 4
7 YH-O8F - MOUNTING FLANGE PC UL94V-0 |LIGHT GRAY 2 2 2 2
i ) D (] Z - .
f %}@ S — =) = 125) 7 —
e I R T 1 oY @a@@ ~{.125) L.
| | = = ﬁ/ }
. L\” < - ) ) ) ] :@ N
! 17— D e S
= = }
, “ “ (8.002)
[}
(a ) ||(8.594) D wﬁ— - - @ - - F\EJ (=D (3750) (7.597)
| — — .
' (5.750)
| oy P!
! _
Q : ? C\\ _\ D; _:: — = — = — = — ::_ it _{/}
| ki @%@C :@f e
| b @ @ o
« 2 Nl o D
| ! u ~V @ @ =
|| 1 | Y
N | / T - N &@ @£ —
N / o -
N2 — : D d = =

! —=— ~{.250)

(8.594) SECTION D-D
)
o
| Il \ N
\ !/
\
HQ ;ﬁ
(7.597 )
( |
(4.800)
PART NUMBER: YQ-080804-28
PART NUMBER: YQ-080804-24
AN L)
7
(/MY A )
, \ PART NUMBER: YQ-080804-18
(8.002)
SECTION D-D

UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm]

TOLERANCES: ANGULAR: +2° YQ-080804

TWO PLACE DECIMAL: +.010 MATER|AL

THREE PLACE DECIMAL: *.005

—_PRINTED GRAPHICS: £010 R -B0.040 255, 44.950-044 A 4D 954008
1HE INFORMATION ConTANED INTHS |~ FLAME RATING SIZE REV
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART N BATE D - 0 1
' OR AS A WHOLE WITHOUT THE WRITTEN
REV. DESCRIPTION |ZONE| BY |APPR D| DATE PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F. | 2/4/2014 SCALE: 1:1.5 SHEET 2 OF 2
REVISIONS CAD FILE: YQ-080804 CHECKED = B.M.B. |2/18/2014 s

8 7 6 5 4 3 2 1

REV
-.01

YQ-080804

“ D



6 5 . 2 |
TOLERANCE CHART
DIMENSION | O |2756|3.543|4.7246.299(7.874 | 9.843 [12.402|15.74819.685(24.803(31.496
RANGE |5 754 |3.543 | 4.724 | 6.299 | 7.874 | 9.843 |12.402(15.748(19.68524.803|31.496| 39.37
i TOLERANCE | +.015| +.017| £.020| +.024 | +.028 | +.035| +.043 | +.051 | +.063 | +.079 | +.098 | +.118
i .
1
]
I
1
312 F
~ 8.594 -
. .938 —~— 156
4X 45.00° 469
i —.156 |
+ |
I
4X 456
E
8.594
7.656
D
<—
|
Y c
—= .500
~ 7.656 - . 1094
@)
S
S
€]
>
()
B
SCALE1:2
SCALET:2 PART NUMBER: YQ-08081C-18
MATERIAL: PC A

PART NUMBER: YQ-08081C-14
MATERIAL: PC

COLOR: LIGHT GRAY

FLAME RATING: UL94V-0

COLOR: CLEAR
FLAME RATING: UL94V-0

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: +2°
TWO PLACE DECIMAL: #-
THREE PLACE DECIMAL: #-
PRINTED GRAPHICS: +.010

REV.

DESCRIPTION

zoNE| BY |aPPRD| DATE

REVISIONS

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF POLYCASE IS PROHIBITED.

PART NO. |

YQ-08081C

MATERIAL pO CQS@

P C 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.
PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088

FLAME RATING SIZE COVER REV

UL94V-0 D -

NAME DATE
DRAWN D.M.F.  2/4/2013 SCALE: 11 ‘ @_@ ‘ SHEET 1 OF 1

CHECKED | B.M.B. | 2/17/2014

2

CAD FILE: YQ-08081C
I

1




4X BRASS INERT

4X P .172

4X BRASS INERT

10-32 UNF

10-32 UNF | 4X 45.0°
% @ A
( S
4X 594
! N
~
)

_>
©

8 x & x &4

8.069 —

6.250(8.594

5
WJ/

S

\
(
.

6.250

1

8.069

8.594

/
—

~A
——
—r—

X RN
RN

156

8X .313 +

|
.]56j

\\\\\\\\\\\\\\\\\\\\\\\\\‘\“

7

AT T.

SECTION A-A

156 — 3.969

3 2 1
TOLERANCE CHART
DIMENSION | O |2756|3.543 | 4.724 | 6.299 | 7.874 | 9.843 |12.402|15.748|19.685|24.803|31.496
RANGE | 754 |3.543 | 4.724 | 6.299 | 7.874 | 9.843 |12.402|15.748(19.685(24.803|31.496| 39.37
TOLERANCE | +.015| +.017| £.020| +.024 | +.028 | +.035| +.043 | +.051 | +.063 | +.079 | +.098 | +.118
4 \ g
J
4 N\ 4
@J )
4X BRASS INSERT
4X .313 1/4-20 UNC THRU
PART NUMBER: YQ-08084B-14
MATERIAL: PC
COLOR: LIGHT GRAY
FLAME RATING: UL94V-0
oirsous Art e hcteron | DART NO.
TOLERANCES: ANGULAR: +2° YQ'O8O84B
TWO PLACE DECIMAL: #- MATER|AL
THREE PLACE DECIMAL: *-
_pRnteD GRapsics s0i0___| PC PRS00 23,0140l A TS
THE INFORMATION CONTAINED IN THIS FLAME RAT'NG SIZE BASE REV
DRAWING IS THE SOLE PROPERTY OF UL94V_O
POLYCASE. ANY REPRODUCTION IN PART NAME DATE D -
OR AS Ol Ol
REV.] DESCRIPTION [ZONE[ BY JAPPRD] DATE | pramssion OF POLYCASE ks PrOMBIED.  DRAWN | D.MF.  2/4/2014 SCALE: 141 SHEET 1 OF 1
REVISIONS CAD FILE: YQ-08084B CHECKED | B.M.B. 1 2/17/2014 s

2

1

REV
YQ-08084B

“ D



	Sheet1(3)
	Drawing View40
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Section View C-C
	Drawing View47
	Section View C-C

	Sheet1(2)(2)
	Drawing View48
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Section View D-D
	Drawing View55
	Section View D-D

	YQ-08081C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6


	YQ-08084B.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Section View A-A



